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B & B B B FRINFKFRK i1 SKiE it 2 5KiE MERKIR STIBKE RK
BKEAR R7.4.9 R7.4.9 R7.4.9 R7.4.9 R7.4.9
Xz - & i iE iE i}
KR °c 20.9 19.8 19.8 20.0 19.8
KR °c 10.9 13.3 13.6 12.5 11.5
KiEE MPN/100mL 30 <1 <1 <1 <1
RRIEFRE {&/100mL 10 0 0 0 0
)T RRKRY S L — — — — — b Jaskcar
CSTLST - — - - - meed
pH - 7.0 6.7 6.6 6.3 6.5
BE =4 1.7 0.5 <0.5 0.5 <0.5
AE |4 1.5 <0.1 <0.1 <0.1 <0.1
HKERR R7.5.15 R7.5.15 R7.5.15 R7.5.15 R7.5.15
ESE - <3 £ £ E E
R °c 21.5 22.5 22.5 22.8 21.8
KR °c 17.9 20.1 19.9 16.4 15.9
KiGE MPN/100mL 27 <1 <1 <1 <1
RRMEFRE {&/100mL 15 0 0 0 0
HyFRREKY DL {E/10L - - - - BHEd
CTILTST f&/10L - - - - mReed
pH - 7.1 6.8 6.7 6.4 6.6
BE |4 3.8 0.5 0.5 0.5 0.5
AE |4 2.4 <0.1 <0.1 0.2 <0.1
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SM7EE EEBHAH XTI YU T PR Y DO LE BRERERE-E X (F U B &)
w & B® B B AR KR F KR REEKIR BRIAKIR R KR SAIRIKIR
BKEAR - - R7.4.7 - — R7.4.14
ES = — = g - - i
[l °c - - 1 - - 12
KR °c - - 12 — — 9
KBHE MPN/100mL - — 1 — — -
REIESFRE | E/100mL - - 0 - — —
syYFrREYSHL| {E/10L - - — — — 0
STILST {&/10L - - - - — 0
pH - - — 6.6 — — -
BE |3 - = 0.5 — — —
EE =3 — — 0.2 - — —
BKEAR R7.5.12 R7.5.12 R7.5.12 R7.5.19 - —
xf - & & & & - -
K[l °c 16 16 16 21 - -
K °c 15 16 13 17 — -
KA MPN/100mL <1 <1 <1 — — -
BSMSFRE | E/100mL 0 0 0 - - -
syYFrREYSHL| {E/10L — — 0 0 - —
CSTILTT {&/10L — — 0 0 — —
pH - 7.9 1.2 6.8 — — —
BE B 0.5 0.5 0.5 — — —
EE =3 0.1 <0.1 <0.1 — — —
BKERB
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SM7EE EEBHAH XTI YU T PR Y DO LE BRERERE-E X (F U B &)
w & B® B B EKiR B ERKIR BAKIR #WE KR LR RKIR AEKIR
BKEAR - R7.4.14 — R7.4. 21 R7.4. 21 R7.4. 21
PSS = — i - g g g
[l °c — 15 - 15 18 17
KR °c — 15 - 14 18 13
NI MPN/100mL — <1 - <1 <1 <1
REIESFRE | E/100mL - 0 - 0 0 0
syYFrREYSHL| {E/10L - — — - — —
STILST {&/10L - — - — — —
pH — - 6.7 — 1.2 8.0 7.0
BE B - 2.7 - 0.5 0.5 0.5
EE =3 — 0.3 — 0.1 0.1 0.1
BKEAR R7.5.19 R7.5.19 - - - R7.5.26
Kig - i & — — — 5
K[l °c 24 24 - - - 15
K °c 20 20 - - - 14
NI MPN/100mL — <1 — — — <1
BSMSFRE | E/100mL — 0 - — - 0
syYFrREYSHL| {E/10L 0 - — — - —
CSTILDT {&/10L 0 - — — — —
pH - - 6.7 - - - 6.7
BE B — 14 - - - 0.5
EE =3 — 1.4 — — — 0.1
BKERB
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K& MPN/100mL
BSMESFRE | E/100mL
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woEomoE | owow | A o WAKE | KEKE | WEKR | MEAKE | DMK | KR
HKERAR R7.4.10 - R7.4.9 R7.4.9 R7.4.9 - - R7.4.10
= - £ - 0 " 0 - - ]
KR °c 17 - 14 15 14 - - 18
KR °c 14 - 14 11 13 = - 1
K& MPN/100mL <1 - <1 - <1 - - <1
WsitFEE | B)/100n 0 - 0 - 0 - - 0
sy T rRRYSHL {E/10L - - 0 0 - - - 0
CTLTT {&/10L - - 0 0 — = - 0
pH - 7.0 - 8.2 1.2 8.2 - - 1.4
BE E3 <0.5 - <0.5 <1 0.5 = = <0.5
EE |3 <0.1 — <0.1 <0.5 0.3 — — <0. 1
HKERH R7.5.21 R7.5.21 R7.5.8 R7.5.8 R7.5.8 R7.5.8 R7.5.21 R7.5.21
% - % 0 % % 4 4 i 4
KR °c 31 31 15 15 14 14 31 31
KiE °c 15 16 15 12 14 15 18 18
KB&E MPN/100mL <1 <1 <1 <1 <1 <1 <1 <1
WEtFEE | B)/100n 0 0 0 0 0 0 0 0
puTrRKRY UL B/10L 0 - - - 0(5/21% 1) - - -
STNI7 | B/ 0 - - - 06/21%58) - = -
pH = 1.3 7.6 8.2 1.5 8.2 8.0 8.1 8.1
BE |3 <0.5 <0.5 1.1 <0.5 <0.5 0.6 0.5 <0.5
A =3 <0.1 <0.1 0.9 <0.1 <0.1 0.1 <0.1 <0. 1
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% & BEH B| B & BRKR L EFKIR FLRIKIR
BKERB - — —
Kz — - — —
KR °c - - -
KiE °c - — —
KB MPN/100mL — - —
BRSMEFRE | E/100mL — — —
sy T rRRYSHL {E/10L - — —
STLLT 18/10L - — —
pH — - - -
BE 3 - - -
B =4 — — _
BKERB - — —
K& - - — —
KR °c — — —
KiE °c - - -
KiEE MPN/100mL — - —
BRRIESFRE | E/100mL - — -
SUFTrRRY DLl {E/10L - - —
STLST f8/10L - - —
pH - - - -
BE B - - —
EE =3 — — -
BKERB
Kig —
[UR °c
Kig °Cc
PN L] MPN/100mL
BSMESFRE | E/100mL
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